MAETZEE—_FRRNEERFESBEERASL [F&] (113.3 AH)

$5 A% MANE R | | &T | A @z e
1 |2~ A)BEERTAEH 17 6
|2 [EEREEATAN 4 | 9
TS axmrzrscn R E
Tl |prrrersan i3 | 9 1
5 |maIMEERATRY 13 9 1
e 6 [FRZIATRLTCE B~ F) 10 10 1 1
T [ FRZHRME 10 9 3 1
8 |FREM(FER - RWHEE 14 6 2 Bk
9 [RARIER AR 16 6 1
HELGES BB HT)ZHY
10 14 8 1
(4o & Bk~ £ EH)
1l (#2828 8% BEH) 13 9 1
5 ¥a‘%§7§&§:—%‘#&§ﬁ3€z%’%’ 1 g !
(o EBok - BEW -~ WMHBE)
mE| 13 HEFRxRE(e: BE% - £82Y) 15
14 [HEB-_0ARERY 12 2 3
(4o @ REBHEG - BB/ AR
15 |R2 ZRELEOFRERRE 17 4 Z
(4o @ 34k~ B EET - BBEF)
16 |HERMAF2BEH-_HeA 14 7 2
17 ($EAamGE—TRERBAERE  $A] 12
&1 %350
18 EAMEERETRERHEN 13 7 1 1
19. A MEBAFREMEHE

B o i

305: 2 K (SBE « LR IT A0 » 2R ABH SHRM  FREE > SORMBHTAS Tk
B 1R 1F4m o
405:3/28(m) K iE R E B (A RIE) -

20 ZEBRMEER :

ko im ~ BR(102)  RAF AR (104) » M~ TRRF050) K RE4(201) » &%
B EHHE S EHRE202) 0 EEE -~ A& (203) 0 BERIE(204) 0 4 5 #m(303 > 403) 5
TEAMEE04) > AE&RA05) > THREKILF - HRE - HitEAFE - HRANS - AAYE - &
NEA=5(406) 48R ~ M4 ~ #:BR(503) > wko 35 (505) - 4 %, He3f ~ B 7 X4~ 0 iH 8 A £48(506)
Bk ~ k5 (602) 0 FHIE - SLHMR - HEEHE(603) 0 R FHBO60L) > RE - BB
% ~ % #r(605)

21 RREHMEER

B4 N(104-105-203) > ¥ & & M5(105) > ¥ £42(202)  £BA &M (204) > & B b A#£(303) -
B ANTEE03) > a4r(406) > ¥ - F% -~ aHG03)  #XF ¥ - ¥mE g - 44 (506)
WoKHE -~ HFET(602) #XFYF - UEa - FETHAG03) 5 #:50604) #E£EFA - %

A~ & T(605) -

RHEA

40




